Ersatzteilpreisliste | Spare parts price | Tarif pieces détachée  ©) Collomix

Transportwagen | Carriage | Charriot 01.06.2022 Seite 1/2

65 Liter

327
90 Liter

()

Collomix GmbH Telefon: +49 (8458) 3298-0 Geschéaftsfiihrer: Sparkasse Ingolstadt
Postfach 11 46 D-85078 Gaimersheim Telefax: +49 (8458) 3298-30 Alexander Essing IBAN DE66 7215 0000 0000 1006 10
Daimlerstrale 9 D-85080 Gaimersheim E-Mail: info@collomix.de Registergericht Ingolstadt HRB 127  BIC BYLADEM1ING

GLN 4011024 00000 2 EORI DE2984431 Internet: www.collomix.de Steuer Nr. 124/123/60018 Ust-IdNr. DE128579719



Please use Order No when searching for parts on www.taindustrial.com

Drawing Number Order No Description
300 60437 Lower frame
301 51000 DIN 1440 washer d26
302 60101 Wheel red
303 51000 DIN 1440 washer d26
304 50000 DIN 94 Splint 4x40
305 50824 DIN 985 hex nut M12
306 50007 DIN 125 washer A13
307 60098 Locking device
308 50070 DIN 603 Screw M8x30
309 50007 DIN 125 washer A13
310 60097 Support arm 65l
311 50006 DIN 127 split washer B8
312 50202 DIN 315 wing nut M8
313 50804 DIN 934 hex nut M8
314 51005 DIN 9021 washer BS8,4
315 51036 DIN 1440 washer 16x28x3
317 60096 Rubber sleeve
316 60094 Bucket guidance
318 50060 DIN 7991 countersunk socket head hex screw M8x40
319 50200 DIN 316 thumbscrew M8x20
320 50006 DIN 127 split washer B8
321 60099 Fuse carrier for transport cart
322 50027 DIN 125 washer BS8,4
323 50203 DIN 316 thumbscrew M8x50
324 60438 Upper frame
325 60093 Handle Helios red
326 60403 Mortar bucket 65| black
327 60252 Mortar bucket 90! black
328 60318 Upgrade kit for carriage to 90




	PartsList_BucketDolly dr.pdf
	PartsList_BucketDolly xl.pdf

